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Additon and Subtraction2

Q1.	 Add by any suitable adjustment.
	 a.	 38 + 64 = _______
	 b.	 93 + 52= _______

Q2.	 Help the mouse reach his rat hole by filling in the blanks on the way:

	
7685−_____=7685

4397−_____=4374

8900 − 100 = _____

900 − 1 = _____

Q3.	 Match the following:

Successor of 5999 8980
Predecessor of 7890 9990
10 less than the smallest 5 digit number 6000
90 more than 8890 7889

Q4.	 Tick the correct answer:

	 Rajat is 15 years older than Shuchi. If Shuchi is 23 years old what is Rajat’s age?
	 a.	 8 years
	 b.	 18 years
	 c.	 38 years
	 d.	 48 years
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Q5.	 Solve:

	 900 – (80 + 75)

	 Answer: _________

Q6.	 Fill in the blanks:
	 a.	 7654 + 2987 = 2987 + _______
	 b.	 7 + (6 + 8) = (7 + 8) + _______
	 c.	 4 tens + 5 tens = _______
	 d.	 100 + 1200 + _______ = 3600

Q7.	 Add:

	 754 + 694

	

Th H T O

+

Q8.	 Subtract by any suitable adjustment.

	 a. 88 – 35 = _______

	 b. 256 – 55 = _______

Q9.	 Shyam is 15 years old and his father is 43 years old. Find the difference between 
their ages.

	 Answer: _______ years

Q10.	Find the difference:
	 a.	 7865 – 876 

	

Th H T O

−
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	 b.	 8977 – 7541 

	

Th H T O

−

Q11.	If the sum of two numbers is 9335 and one number is 2167, find the other 
number.

	 Answer: ____________

Q12.	Find the number from which 1865 must be subtracted to give 2241.

	 Answer: _______________

Q13.	Raman bought a used table for ₹ 2300. He spent ₹ 700 on polishing and ₹ 500 
on repairs. How much did Raman spend on the table altogether?

	 Answer: ____________

Q14.	The auditorium had a capacity to seat 1000 people. If at a show 347 chairs were 
empty, how many people were watching the show?

	 Answer: ____________

Q15.	a. Estimate the sum of the following numbers to the nearest 1000:

	

2345

5782
+ =

Round off to
nearest 1000

	 b. Estimate the following difference to the nearest 10:

	

78

25
− =

Round off to
nearest 10

Difference



4

Copyright © 2017 Macmillan Publishers India Private Limited. All rights reserved.

ANSWERS

1.	 a.	 102 
	 b.	 145 

2.	 7685 – 0 = 7685
	 4397 – 23 = 4374
	 8900 – 100 = 8800
	 900 – 1 = 899

3.	 Successor of 5999 6000
Predecessor of 7890 7889
10 less than the smallest 5 digit number 9990
90 more than 8890 8980

4.	 (c)  38 years

5.	 745

6.	 a.	 7654
	 b.	 6
	 c.	 90
	 d.	 2300

7.	 1448

8.	 a.	 53
	 b.	 201 

9.	 28 years

10.	 a.	 6989
	 b.	 1436

11.	 7168

12.	 4106

13.	 `3500

14.	 653 people
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15. a. 	

2345 2000

5782 6000
8000+ =

Round off to
nearest 1000

     b. 	

78 80

25 30
50− =

Round off to
nearest 10

Difference


